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Questions

r + 3 > 5 then which is true

x is a member of the set {-1,0,3,5} y is a member of the set {-2,1,2,4} which is possible?

The total cost of 2 apples and 3 oranges is $1.70,which of the following is true

If p and r are integers P = 0, and p # -r, which of the following must be true?

If -1 < x < 0, which of the following statement must be true?

For which of the following ordered pairs (s,t) is s + t>and s- t <-3?

Which is in the solution set of 4x - 3y <2

A point of a solution region where two of its boundary lines intersect is called

Which is not a half plane

If 4 - x> 5, then

Answers Choice

A r+28&gt 4
B.r+2a&lt; 4
C.r+2+4
D. None

A. x-y=-6
B. x-y &lt; -6
C. x-y &gt; 6
D. None

A. The cost of one apple

B. The cost of one orange

C. Both have equal cost per item

D. Cost of each single item can not be
determined

A pé&lt;r
B.p&gt; r
C.p+ré&lt;0
D.p-ré&lt -0

A. x &lt; x<sup>2</sup> &lt;
x<sup>2</sup>

B. x &lt; x<sup>3</sup>&nbsp;&lt;
x<sup>2</sup>

C. x<sup>2</sup>&nbsp;&lt;
x<sup>3</sup>&nbsp;&lt; x

D. x<sup>2&nbsp;</sup>&lt;&nbsp;x
&lt;&nbsp;x<sup>3</sup>

. Boundary

. Inequality

. Half plane
. Vertex
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.ax+ by &lt; ¢
.ax+ by &gt; ¢
.Both Aand B
. None

. x&gt; 1
. x &gt; -1
. x &lt; 1

D. x &lt; -1
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